H & 0l & AHS B Ml A

INPNLLES )}
ANLlySA 23t
INPNCLP<Ende (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
M ot 6,136,966 5,851,009 285,957
= 40,510
Al 1,102,959
- 4,993,497
A AL 2,824,669 2,882,182 A57,513
= 2,010
Al 63,100
- 2,759,559
AxHE S 2,824,669 2,718,425 106,244
= 2,010
Al 63,100
- 2,759,559
SR 13,680 15,264 A1,584
201 2= 3,024 4,608 A1,584
01 AtR2t2lt] 3,024 4,608 A1,584
OZAlHI 3,004
L ES EE N
9,000 3 7 +60L +B0%<E 2> 3,024
202 048l 8,256 8,256
01 2L A b 8,256 8,256
OsggeFao
20,0002 x2EH 482 x80U<E 2> 1,536
OSHEUTXIHEADEH 01
20,0003 7 H*60L «80%<E 2> 6,720
204 APt AH| 2,400 2,400
02 E3g =23l 2,400 2,400
Oszsgggzed
100,000 x2&* 122 2,400
S Ll 6,300 6,300
203 =4l 6,300 6,300
03 A=A 2= 6,300 6,300
OSHIANHRHIFA
7,000,000 »90%<E 2> 6,300
FRAUAMNLAZAHFA 80,600 50,800 29,800
201 er23 | 73,400 43,600 29,800
01 At2teltl 11,400 12,400 21,000
Oget+=EZHI 11,400
—AZDR, BABHESESHIRE
5,000 x2002*33| x80%<E &> 2,400
~ T L ARERYS
5,000,000 «80%<& &> 4,000
—HARSSATGS
5,000,000 x80%<E 2> 4,000
—Ols2EALxR
1,250, 0002 * 100 A +80%< & 2> 1,000
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SA R E
3 NLAYARSYS
el AIXAHF S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 17,164 13,827 3,337
OAlE &I Xl 8,227
—JIHEHISEI=Al2clY]
2,000,000 2,000
— 2 UEHIRX 22/ 2,000,000& 2,000
—Ad=R:XAH| 3,100&+1,363.47m 4,227
OZ2Z22ZZHAl 8,937
—&l= 25,052,000& *35% 8,769
—HUERLRES 167,830 168
MOFEXI = XHAHA &S S (AlH]) 42,000 44,000 ~2,000
Al 21,000
- 21,000
301 LEIE NS 42,000 44,000 22,000
Al 21,000
- 21,000
o4 Fstsstis 42,000 44,000 A2,000
OMOISXIE XA A EE S
2,000,000& 21 42,000
Al 21,000
- 21,000
RSN 6,615 4,224 2,391
201 =3 2,775 2,688 87
01 At22t2lt] 2,775 2,688 87
Oget=ZH| 615
— gAY 23YI
64,0003 * 1270 +80%< & 2> 615
Oa4il 2,160
— S YIRS SAHI
9,000 x5 +60 L +B0U<E &> 2,160
202 04l 3,840 1,536 2,304
01 2LHoIH 3,840 1,536 2,304
Oy +dHEH 0L
20,0003 x5 2 482 +80%<E 2> 3,840
FAUANXE =29 K& 372,800 363,200 9,600
201 er2 3| 286,400 286,400 0
01 AtR2t2|HI 182,400 182,400 0
ogegt=gll 182,400
-3 FA = (E2l3l)
30,0003 x12E~12& 4,320
—3loF A= (AH)
30,0002 *40S * 12« 120 S 172,800
—ISEME (A7)
10,0003 40 1200 S+80%<E 2> 3,840
—ZAHME (S22, FSA)
150,000 x 12 +80%<E &> 1,440




SA R E
3 NLAYARSYS
el AIXAHF S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 Ar=EHI 104,000 104,000 0
OltsdNgd=H 0T, dEF2S 96,000
—M&=22E3
10,000,000& * 1270 S*13|+x80%<E &> 96,000
O8UERALFUNIMEHZZ 1)
=Rl e 10,000, 0002 * 12| »80%<E 2> 8,000
301 EtE NS 86,400 76,800 9,600
11 dAMEEIXIZE S 86,400 76,800 9,600
O8AlH| 86,400
—WF, 3AFAHS
9,000 #40E *202|« 124 S 86,400
FUXR A Lt 17,080 6,400 10,680
201 et 3| 16,000 6,400 9,600
03 A2 I 16,000 6.400 9,600
OusxaZA IS
3,000,000 #22 6,000
O=8IXtXI&t W 10,000,000& 12 10,000
301 LEtE N = 1,080 1,080
11 #AIAMHIXIZ S 1,080 1,080
Og gt ag=Atl
9,000 *60& »23] 1,080
FUAXMEH 228 23 629,604 566,005 73,599
201 2= 6,060 4,120 1,940
2 S524g4l 6,060 4,120 1,940
OZ32=ZAAl 220
—SSLAISAAIEE 220,000 14 220
OAEEHIR X 5,840
—FUNXEHEZ IHEHOIA
=AI224] 5,840,000& »1& 5,840
307 212+01& 623,544 551,885 71,659
05 2ItRIE = 623,544 551,885 71,659
O=CITXIHERII?EHR2 A 623,544
— QAR HIE 12|
2,303, 1803 x 12 * 123 331,658
—FUNXHHEESMLENEES
2,303, 1802 x10%x 122 % 123] 33,166
—FOURXIEE 2 2 A
258,720,000 258,720
UMM =g 11,840 10,566 1,274
201 er2 3| 11,840 10,566 1,274
01 At2teltl 11,840 10,566 1,274
Odgt+==H| 2,400
— U020 2 Xtz 01 )
15,0002 x200+80%<E &> 2,400
Oo=2g8=+d 9,440




SA R E
Ha: K| EolAs
=@ MIxgE 7 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
B e R I EE P,
100, 00024 %36 222 7,200
— DI A Ol 0 A B I 2 A
370,000 x1H =23 740
—EOIE OO A E O Bl & A
(Z2ZE) 150,000& x10E +12] 1,500
Ot=3SSHEdsHAlL]) 545,542 539,954 5,588
Al 20,000
- 525,542
307 el2to| & 545,542 539,954 5,588
Al 20,000
- 525,542
05 2I2+RIE =S 545,542 539,954 5,588
OUEASSHAIZLEHE2tRE S 407,542
—QI2A4H| 344,612,000 344,612
—2g4l 62,930,000 62,930
OZ20ISRISIIB2ANY
103,000,000 103,000
Al 20,000
- 83,000
Olt=SSsSHAE L3t 35,000,000 36,000
DISSSHEAS 40,138 44,466 N4,328
201 el 8,192 7,520 672
01 At22t2lt] 6,192 5,520 672
Odgt=3=H| 1,200
—OIS=SHEE=NAS
500, 0002 32/ «80%<E 2> 1,200
o2gsg 2,400
~ OIS T SRB L5 A Y
(ZN=XZE)
150,000 x 10 *23] +80%<ZE 2> 2,400
OsAlH| 2,592
—SSHERFISZSA
9,000 x6H *60 & +80%<E 2> 2,592
02 s3=gHl 2,000 2,000 0
OZZ =2 HAl 2,000
— OSSN FE 22/
2,000,000& %12 2,000
202 04l 6,946 6,946
01 =LHAHI 6,946 6,946
OSSHH R0
20,0002 6% »48 L x80%<E 2> 4,608
OSsSHads =0
97,4003 x3Z x 102/ «80%<E &> 2,338
307 elztol & 25,000 30,000 25,000




SA R E
3 NLAYARSYS
el AIXAHF S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
05 2ItRIE = 25,000 30,000 /5,000
osxE20=2=)Id ts=3l
(SSHE0E) 13,000,000 13,000
OSSHUOILINZE =012t01 Ar
12,000,000& 12,000
== 2= 0ICIo a3tk 21,000 30,000 29,000
307 212+01& 21,000 30,000 29,000
05 2ItRIE = 21,000 30,000 29,000
OUE+SSHMOICIo&d3tAr
21,000,000 21,000
Scl2el3% sg==iH =24 1,920 13,920 A12,000
201 et23| 1,920 13,920 A12,000
01 At22te|Hl 1,920 1,920 0
Oggr=al 1,820
—ANFESSHY
200,000 x 122 x80%<E &> 1,920
DEAEIIRH=2E 28,707 26,979 1,728
201 el 18,000 17,512 488
01 At22t2lt] 18,000 17,512 488
Odgt=3=H| 18,000
—UEAEI | FSEH SRS
18,000,000 18,000
308 AtXIEHMSOIE 10,707 9,467 1,240
183 S 2SS B XA AIE 10,707 9.467 1,240
OLEA—es = A2 10,707,000& 10,707
SEOIE==AXY XA s 22(=4l) 2,010 2,020 A10
= 2,010
201 get=3y| 1,310 1,320 A10
= 1,310
01 At2teltl 1,310 1,320 A10
Oget+=ZHI 1,310
—ANFESSHY 310,000 310
= 310
—SSOIEFRENSE 3N+
100,000 5 & »23] 1,000
= 1,000
203 HR=H] 700 700 0
= 700
03 A=A 2= 700 700 0
OS&012=2XA X HE 23 AR FXH
700,000 700
= 700
Se0lE=2 X 3,000 3,000 0
307 212+01™ 3,000 3,000 0




SA R E
3 NLAYARSYS
el AIXAHF S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 3,000 3,000 0
O=e0Ie =2 XHAI
3,000,000& 3,000
Q2N s2gs NE 275,870 252,823 23,047
301 EetE2 N = 26,195 20,982 5,213
11 #AIAHIXIE S 23,495 20,982 2,513
O&=BIZEANEI I FIOtE 2! 6,860
—wSH(HAL XL 2YR)
4,960,000 4,960
—=gl 80,0003 20«13 1,600
—AHl 300,000 300
OMO=sdu=s 12,540
—w=H| 260,000 »38H 9,880
—OdH 70,0002 *38H 2,660
OX=MOES X=X F 24 4,095
— St 40,0002 35 12 1,400
—=8 50,0002 *x36E *13] 1,750
—4H 9,000 x35& *34] 945
14 IIEt2 83 2,700 0 2,700
O=ZAZ DT SAINE 2
9,000 %20 » 15 2,700
307 @120l & 246,365 231,841 14,524
02 QA AAEE X 113,100 107,350 5,750
OBtEANaI I 2SUHERE 2SI
25,550,000 25,550
Ost= =S HBUE TR 2 At
11,510,000 11,510
OHSUE P2 A HB TS X 2| Ar Bl
5,250,000& 5,250
O =Ho SN2 HE A 23 AISH
16,000,000& 16,000
O T AMDIS 3 A
51,790,000 51,790
OUE U AU XIS AR A I
3,000,000 3,000
03 PIAHHEE 22X 133,265 124,491 8,774
ot zsiHE 2223
31,640,000 31,640
Ost=A=&HWUE X 2 23|
31,640,000 31,640
ORl=galsL A2 AUE P s 2]
8,400,000 8,400
Otd 7 Motsal22 I
61,585,000& 61,585
402 QI2E X201 & 2,690 2,690
01 I2tXH= ALY (REAITHE) 2,690 2,690




SA R E
Ha: K| EolAs
=@ MIxgE 7 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OUEFMOtS2FSAIESZHA
2,690,000& 2,690
405 KHoHFSHI 620 0 620
01 ML ESFSHI 620 0 620
Obl=HaSLAE3AUNE 23/ HeT
- 620,000& 620
TSN AR 54,780 54,780 0
201 2= 4,080 4,080
01 At22telt] 4,080 4,080
O=g+y 4,080
— O K| X| OFBI 0| 5] @ & A A et
(ZM2XE)
150,000 17 #23| x80%<ZE 2> 4,080
301 EtE2 NS 43,700 43,700
06 A=LHUHAHIXZ 43,700 43,700
OXE LT AIHIX & 43,700
o CER T
50,0003 x19JH CH= 123 11,400
—=E AR 500,000 199K CH 9,500
—OFAIH| 4,000 *3002 * 199K TH 22,800
307 @20l & 7,000 7,000
02 QB HANEER 7,000 7,000
OFUHS XA 3,000,000 3,000
OA] QM A A BEALY 4,000,000& 4,000
g iasxIa (AlLl) 22,100 21,660 440
Al 22,100
301 EtE NS 22,100 21,660 440
Al 22,100
06 HESLHUHAEIXZ 22,100 21,660 440
OXSLEHUAEIXZ 22,100,000& 22,100
Al 22,100
INPNE= N 6,080 6,080 0
201 Ler23| 6.080 6.080
01 At2teltl 6,080 6,080
O=2g+¢ 1,120
— QS USRS FAH(II2)
100, 0002 7 H*23| x80%<E &> 1,120
Oo=2g=+d¢ 4,960
—FUSEHIAY AT AE
100,000 +6 2 +23| «80%<E 2> 960
—gu2¥FEA B3+
100,000 x 102 x52| xB0%<E 2> 4,000
FRXERIO & KT 2 A 420,000 420,000 0
201 2= 374,920 379,410 A4,490




SA R E
Ha: K| EolAs
el AIXAHF S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 26,660 31,764 A5, 104
Oger=8HI(7HS) 26,660
—EESNE A2EFYS
26,660,000 26,660
03 A= 348,260 347,646 614
OZFQIXRICII AR AN (1201 ) 348,260
~OISEH, T2 08, AHoS
348,260,000 348,260
301 EtE N = 31,800 33,590 A1,790
02 A2 A LGS (FHAAHS, NSWE) 2,000 1,600 400
OZTXXI AT AL (1HS) 2,000
— M ERARA AN SR
=S A2 A ,000,000%= 2,000
11 dALREIXIE S 29,800 31,990 22,190
OZBIXHAI A K 2AI (124 ) 29,800
— Y], REAHIXNSXE
29,800,000& 29,800
401 Al HIZ S OHbI 8,280 7,000 1,280
01 A28l 8,280 7,000 1,280
O=2IXXIHIAXI R AL (100 S) 8,280
— QIS ZEBY2HCIZTSIAIY
EH R EDH RS SIS
8,280,000 8,280
405 AHaHE = 5,000 5,000
01 It =S F = 5,000 5,000
OF QXXM AXIZ A (10HS) 5,000
—Hats "SsZFoSHoHR"”
ASEHAZIIZ SR EIRIDIEX]
5,000,000& 5,000
AHESAH 2d3t 416,555 399,221 17,334
= 38,500
Al 72,558
- 305,497
A2 SA 243t 416,555 399,221 17,334
= 38,500
Al 72,558
- 305,497
KNASAEE It MHIA XI&(=2H]) 10,232 9,574 658
= 5,116
Al 2,558
- 2,558
307 el2to| & 10,232 9,574 658
= 5,116
Al 2,558
- 2,558




2A: AXAEE
BH: A=A BHE
Sel: ANFSAH 243 (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
02 QIZHBAAIEER 10,232 9,574 658
OIS A& 2 &I
10,232,000 10,232
= 5,116
Al 2,558
- 2,558
A 2CIHI0IH XIg 4(=41) 66,768 66,462 306
= 33,384
- 33,384
307 212+01 A 66,768 66,462 306
= 33,384
- 33,384
02 QItBAAIHE R 66,768 66,462 306
OXASAZCIUIOIE KA (2Y)
66,768,000 66,768
= 33,384
- 33,384
KA SAHEHESHRIR (AlYI) 70,000 70,000 0
Al 70,000
307 gI2Hol 70,000 70,000 0
Al 70,000
02 QIZHAAAIEE R 65,100 65,100 0
OXHA S A E A3 KIA
65,100,000 65,100
Al 65,100
03 QIZIEHHE2GHIEX 4,900 4,900 0
OXASAHIE 2| 4,900,000& 4,900
Al 4,900
A SAEE SR 269,555 253,185 16,370
307 2I2+01 A 269,555 253,185 16,370
02 QIRHHAAIH B X 13,685 11,860 1,825
OXHASAHEHE A3 KIA
13,685,000 13,685
03 QIIEHHHE2HHIE X 255,870 241,325 14,545
OXESAEEH 2| 255,870,000& 255,870
ME=I\ PSPNE.] 2,616,126 2,415,888 200,238
Al 967,301
- 1,648,825
FEZNA 2,616,126 2,415,888 200,238
Al 967,301
- 1,648,825
EsdnsEieg 13,040 13,520 A480
201 L2 | 13,040 13,520 A480




SA R E
M DSYINE
e BN s =D f (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 13,040 13,520 480
OLer+EH| 9,440
—HADSNTSAARREYSHSE
11,800, 0002 x80%<& 2> 9,440
O=g=g 3,600
~H S A DS NP2 Y E Ol Bl S AL
(ZD2EE)
150,000 15 22| «80%<E &> 3,600
St =S 0 YR 1,120 1,200 A80
201 Ler23| 1,120 1,200 A80
01 At2teltl 1,120 1,200 A80
O=23+¢ 1,120
—SUEEME T L
100,0002 x 142 +80%<E &> 1,120
XN ARzt ZA4 X (AlH]) 1,209,124 1,176,539 32,585
Al 967,301
T 241,823
301 EtE NS 171,487 183,504 A12,017
Al 137,189
- 34,298
14 IIEt2 83 171,487 183,504 A12,017
LRSIV )
171,487,0002 171,487
Al 137,189
- 34,298
308 XXM SOIH 1,037,637 992,19% 45,442
Al 830,112
- 207,525
08 W=J| 202X 1,037,637 992,195 45,442
OXBES DI AN AAY
1,087,637,000& 1,037,637
Al 830,112
- 207,525
StUSAZARE 1,085,597 1,100,051 A14,454
308 AtXIEHMSOIE 1,085,597 1,100,051 A14,454
08 W=J |20ttt Ex 1,085,597 1,100,051 A14,454
OBt DS AT (£1-6)
592,390,000 592,390
OBt DRATAIR(Z1-3)
487,762,000 487,762
OUHSAHIXA 5,445,000& 5,445
WFHIFA 6,525 525 6,000
201 fer= 3| 2,160 0 2,160
01 AtR2t2|HI 2,160 0 2,160




SA R E
B DRHIAA
e BN s =D f (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SELT 2,160
—DRALENS2ZAY)
9,000 x5 +60 L xB0U<E &> 2,160
202 04| 3,840 3,840
01 2LHA b 3,840 3,840
O=LHOHI 3,840
—WFHIFA0HI
20,0002 x5 48 +80%<E 2> 3,840
204 AR AH| 525 525
02 E3g 23| 525 525
o=yl 525
—ARFAETHIDI M (0HS)
50,0002« 1 *12&35/40 525
A NI S3H 2 A 300,720 1,200 299,520
201 el 720 1,200 A480
01 At2telt] 720 1,200 A480
O=g+y 720
— DS EENVB BA LY
100, 000 x0 & +B0%<E &> 720
308 AFARIEHMSOIE 300,000 300,000
08 WEJ|20UStEx 300,000 300,000
O2A8st W SHHE XA
300,000,000 300,000
SEE A2 125,302 0 125,302
Sdgt "2 125,302 0 125,302
ANgEH 23 125,302 0 125,302
308 AtXIEMSOIE 125,302 0 125,302
14 IIEtR8=s 125,302 0 125,302
ON92| 8 =S AIX &1 EH B |
125,302,000 125,302
HH2IJHI (A HFH L) 154,314 163,718 596
elIg =g 129,559 128,657 902
el =gl 129,559 128,657 902
101 @12A4H| 129,559 128,657 902
01 2 88,336 89,224 A888
OAteI22+E
11,6022 x21E *35A1 2Hx 122 1. 03+80%<E 2>
84,320
OAIZIIZ2Z (L EHAIM/1E)
11,6022 x 1 *3BA| 2t 122+ 1. 03+B0%<E 2>
4,016
02 JIEtAE 41,223 39,433 1,790
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